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439|3—AF ALY 1.9 1.9
1—AFNL—1—Tz=)LTF )L =kRr~=
a0 77 0.21 0.49 0.70
4412~ A= AT AT HEN) —4, 6—V=n
Fx
W[ ATa= 12,243 12,243
443 ATV 51,523 51,523
444N 7 ax VAR EE Y 15,449 15,449
445 IV IR LITFIL 12,819 12,819
446|4, 4 —AFL YT =)
147 AFLIER(4, 1 -y 7uniily)=
AT F—]
148 ;3;‘/_1]:7‘(4' I=7==b)=F7¥ 1,477 7.3 1,484
|7 = AT AT 7B 63,666 37 63,703
450 VT F I T 13,507 13,507
4512 ANk — 65— AFAT =T
452(2— AVA T T FTT—) 6 6
453 BV 7 TV ROZEDLEY 151 21,943 273 22,366
454[2— (RN JOFA) N TFT T 6.1 6.1
ES 504 5,570 6,074
456D AALT LI=T B 13,551 13,551
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2 TR (a7, 7 T % B TR/
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
i D N I , e | FAF — e | R a
[ Ko WEEOT| k| Bl | Bl | ok |TOEEIEPERAL (G BRSO g | g |RRRET g SRR B | PR | D IREAR TR s | 0
s wo| RERE | R v | B " W LT YAt S £
AxX 53
457[P 7L R A 51,985 42 52,027
458V ABERUA (2—=F L~F L)
459V ABERY A (2— 7T /L) 122 122
460(Y AUBER) RY L 96 12 108
461V ABER) 7 = =)L 854 987 1,841
462V BN — V= L— T F )
& &t 30,601,388/32,106,849| 252,148| 869,96730,053,935/4,558,058 33,401,107 6,581,6903,137,845| 863,420 50,624,500 1,465,9174,373,939/3,849,730|129,687 87,620 122,938| 7,439,715 22,123|2,303,658 7,808,046 175,174 239,686] 221,047,016
T RS LR 3 DI E R VAR R R B IS AR T re T,






